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Easy
	1
	Jovan had 25 keychains. He gave 2/5 of them to his friends. How many keychains did he give to his friends? 

Ans: He gave 10 keychains to his friends.

	2
	There are 60 carnations.  7/10 of them are red carnations.  The rest are yellow carnations.  How many yellow carnations are there? 

Ans: There are 18 yellow carnations.

	3
	Josephine had $40.  She spent 3/8 of the money on a storybook.  How much did the storybook cost? 

Ans:  The storybook cost $15.

	4
	There were 96 people in a Sports Hall.  1/4 of them were females.  How many males were there in a Sports Hall? 

Ans: There were 72 males.

	5
	Mabel spent 1/3 of her money and saved the rest. If she had $24 at first, how much did she save? 

Ans: She saved $16.

	6
	A class has 42 students.  3/7 of the students wear spectacles.  How many students wore spectacles in that class? 

Ans: 18 students wore spectacles in that class.

	7
	John had $48. He spent 1/4 of it on a book and $14 on a bag. How much did he spend altogether? 

Ans: He spent $26 altogether.

	8
	Ms Rohani baked 96 tarts on Sunday. 1/3 of the tarts were strawberry tarts and 1/6 of them were chocolate tarts. The rest were raisin tarts. How many raisin tarts did she bake? 

Ans: She baked 48 raisin tarts.


Average

	1
	Faizal had 56 angelfish.  He gave 3/8 of them to his brother.  How many angelfish had he left? 

Ans: He had 35 angelfish left.

	2
	5/8 of the members in a club are females.  There are 27 male members in the club.  How many members are there in the club? 

Ans: There are 72 members in the club.

	3
	Rina spent 3/8 of her money on a storybook. If the storybook cost $12, how much did Rina have at first? 

Ans: Rina had $32 at first.

	4
	Anita spent $34 on Monday and $30 on Tuesday.  If she had spent 4/7 of her money, how much money did Anita have at first? 

Ans: Anita had $112 at first.

	5
	There are some roses in a flora shop.  3/8 of the roses are white and the rest are red.  If there are 30 red roses, find the total number of roses. 

Ans: The total number of roses is 48.

	6
	A tank was 1/3 full.  After l2 litres of water were added, it was 5/6 full.  What was the capacity of the tank? 

Ans: The capacity of the tank was 24 litres.

	7
	2/3 of the students in a class are boys. 1/4 of the boys take the school bus. If there are 14 girls in the class, how many boys take the school bus? 

Ans: 7 boys take the school bus.

	8
	Mr Sim had 160 papayas.  He sold 3/4 of them at $2 each.  How much money did he receive? 

Ans: He received $240.


Challenging

	1
	2/5 of Linda’s savings in a week is $48.  If she saves the same amount every week, how much is her total savings in a month? 

Ans: Her total savings in a month is $192.

	2
	Daniel spent 1/5 of his monthly salary on transport and 1/2 of the remainder on food.  If he has $800 left, find his monthly salary. 

Ans: His monthly salary is $2000.

	3
	After spending 1/4 of his salary, Gregory gave another $280 to his father.  If Gregory still had $1070 left, what was Gregory's salary? 

Ans: Gregory's salary was $1800.

	4
	There are 160 cookies in a tin.  3/8 of the cookies in a tin are butter cookies and 1/5 of the remainder are sesame cookies.  The rest are chocolate cookies.  How many chocolate cookies are there? 

Ans: There are 80 chocolate cookies.

	5
	Siti had 4 metres of cloth.  She used 2/5 of it to make a pair of pants.  She used another 1/3 of the remainder to make a skirt.  How much cloth was left? Give the answer in centimetres.
Ans: 160 cm of cloth were left.

	6
	Geraldine has a box of beads.  1/4 of the beads are red and 5/12 of them are blue.  The rest of the beads are green.  There are 48 more blue beads than red beads.  How many green beads does Geraldine have? 

Ans: Geraldine has 96 green beads.

	7
	Michael collected 360 marbles.  2/3 of them were red marbles.  The rest were blue marbles and yellow marbles.  The number of blue marbles was 3 times the number of yellow marbles.  How many blue marbles did he have? 

Ans: He had 90 blue marbles.

	8
	Ali had some biscuits. After eating 1/3 of them, Devi gave him 4 biscuits. After eating 1/4 of the new total number of biscuits, Siti gave him 7 biscuits.  Now Ali has 13 biscuits.  How many biscuits did Ali have at first? 

Ans: Ali had 6 biscuits at first.
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